
VAA�TXP�Series�Switch�Boxes
VAA�TXP系列限位开关

VAA TXP Series Switch Boxes
VAA TXP系列限位开关

Parts�and�Materials
零件和材料

VAA TXP系列限位开关适用于本质安全，隔爆，非易燃的应用。

TXP开关盒提供紧凑的安装外壳，提供卓越的性能和外观。TXP可以满足任何
ISO / NAMUR安装标准的执行器，无需额外的安装支架。 

TXP系列开关的凸轮调整简单易用，开关位置更加精确。

开关位置指示便于快速识别开关状态。

The VAA TXP series limit switch box is suitable for intrinsically safe, flame‐
proof, non‐flammable applications.

The TXP switch box provides a compact mounting enclosure for superior 
performance and appearance. The TXP is conformed to any ISO / NAMUR 
mounting standard actuator without additional mounting bracket.

The cam adjustment of the TXP series switch box is easy and the on/off positions are more precise.

The on/off position indication facilitates quick identification of the valve status.

No. 名�称�Item 数�量�Qty. 材料及规格

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

透明罩 Transparent Cover

透明罩衬 Inner Cover

指示器 Indicator

过渡块 Adapter

垫片 Washer

上轴套 Top Bearing

上盖 Top Cap

“O”型圈 O‐ring 140X2‐N‐G

螺钉 Screw M5X16 A2‐70

螺母 Nut M5 A2‐70

垫圈 Washer M4 A2

垫圈 Washer M4 A2

下盖 Body

下轴套 Bottom Bearing

挡圈  Retainer 10 A2‐70

铭牌 Tag

螺钉 Screw M3X5 A2‐70

“O”型圈 O‐ring 6X2‐N‐G

转轴 Shaft

螺钉 Screw M4X8 A2‐70

垫圈 Washer M4 A2

垫圈 Washer M4 A2

螺钉 Screw M5X20 A2‐70

垫圈 Washer 5 A2‐70

防护螺塞 Plug NPT1/2

1

1

1

1

1

1

1

1

1

1

1

2

1

1

1

1

4

1

1

1

1

2

4

4

2

PC ﴾聚碳酸酯﴿

ABS

ABS

PA66 ﴾尼龙66﴿

NBR 丁腈橡胶

HPb59‐1

YL102

NBR 丁腈橡胶

YL102

HPb59‐1

SS304‐T0.6

NBR 丁腈橡胶

SS303

2

4

5

7

9 10 11 12 13 14 15 18 23

L≥12.5 ic=0.15
6

8

NPT 1/2

螺纹隔爆面
Screw Ex‐proof Surface

A向

A

19

隔爆面
Ex‐proof Surface
L≥12.5 ic=0.15

隔爆面
Ex‐proof Surface
L≥12.5 ic=0.15

平面隔爆面
Plane Ex‐proof Surface

1

3

16 21 2220

25

2417

126

109

159

11
4

13
1

11
4

16

30
.3

FROM CA U.S.AFROM CA U.S.AFROM CA U.S.A

I

TX

开

O / N

XP系列

盒提
AM

开

提供紧
UR安装

位开关

紧凑的安

适用

es
用于本

Swi
本质安

itch Bo
关关

零零件件和

off po

ally safe, am

7

2.5 ic=
urface
0.15

隔
Ex
L≥

隔爆面
‐proof Su

se.

1

N

H

PA66 ﴾尼龙

BR 丁腈橡

6﴿

22

23

垫

垫

螺钉 Sc

垫圈 Was

t

ew M4X

h M

X2‐N G 1

1

S

NBR

S304‐T0 6



订
购

信
息

�H
ow

�t
o�

or
de

r
TXP�Series�Switch�Boxes

VAA�TXP系列限位开关

FROM CA U.S.AFROM CA U.S.A
O

-R
in

gs

B 
Bu

na
‐N

E 
EP

D
M

S 
Si

lic
on

e

V 
Vi

to
n

先
导

阀
�P

ilo
t

Bl
an

k 
 N

o 
pi

lo
t d

ev
ic

es

1 ﴾
1﴿ 

24
VD

C 
Pi

lo
t, 

5W
, 

Fa
il 

op
en

/c
lo

se
d

4 
﴾1﴿

 2
20

va
c

pi
lo

t, 
1.9

W

fa
il 

op
en

/c
lo

se
d"

阀
体

�S
po

ol

Bl
an

kN
o 

sp
oo

l v
al

ve

A 
Al

um
in

um

ha
rd

 a
no

di
ze

d

6 
31

6S
S

Cv
值

�V
al

ve
�C

v

Bl
an

k 
N

o 
sp

oo
l v

al
ve

1 1
.0

Cv

手
动

功
能

�O
ve

rr
id

e

Bl
an

k 
N

o 
ov

er
rid

e

1 S
in

gl
e 

Pu
sh

bu
tto

n

M
om

en
ta

ry
/L

at
ch

in
g

2 
D

ua
l P

us
hb

ut
to

n

M
om

en
ta

ry
/L

at
ch

in
g

认
证

�R
eg

io
na

l�C
er

ts

Bl
an

k 
N

o 
Re

gi
on

al
 C

er
t

N
 N

EP
SI

R 
G

O
ST

A 
AT

EX

壳
体

�E
nc

lo
su

re

VA
A‐

TX
P

Al
um

in
um

VA
A‐

TX
S

31
6 

St
ai

nl
es

s 
St

ee
l传

感
器

�B
us

/S
en

so
r

M
ec

ha
ni

ca
l S

w
itc

he
s

M
2 

﴾2
﴿M

ec
h 

SP
DT

M
4 

﴾4
﴿M

ec
h 

SP
DT

T2
 ﴾2

﴿M
ec

h 
D

PD
T

K2
 ﴾2

﴿M
ec

h 
SP

DT

go
ld

 c
on

ta
ct

s

K4
 ﴾4

﴿M
ec

h 
SP

DT

go
ld

 c
on

ta
ct

s

Pr
ox

im
ity

 S
w

itc
he

s

R2
 ﴾2

﴿ S
PD

T 
25

0m
A 

m
ax

R4
 ﴾4

﴿ S
PD

T 
25

0m
A 

m
ax

P2
 ﴾2

﴿ S
PD

T 
3A

 m
ax

In
du

ct
iv

e 
Se

ns
or

s

E2
 

﴾2
﴿ 

p+
f 

N
J2

+
V3

‐N
 

in
du

ct
iv

e 
N

AM
U

R

12
 ﴾2

﴿ I
nd

 p
ro

x 
PN

P 
N

/O

A
re

a�
Cl

as
si

fic
at

io
n

0 
In

tri
ns

ic
al

ly
 s

af
e

Ex
 ia

 II
CT

6

C 
Fl

am
e 

Pr
oo

f 

AT
EX

/IE
CE

x 
II2

G
D

 

Ex
 d

 II
BT

6

Vi
su

al
�D

is
pl

ay

G
 S

ta
nd

ar
d 

90
°

G
re

en
 O

PE
N

, 

Re
d 

CL
O

SE
D

轴
�S

ha
ft

"N
 N

AM
U

R 
30

4 
SS

"

"L
 1”

 E
xt

en
de

d

Li
ne

ar
 S

ha
ft"

电
气

接
口

�C
on

du
it

P 
﴾2

﴿ 1
/2

” N
PT

M
 ﴾2

﴿ M
20

E 
﴾2

﴿ 3
/4

” N
PT

﴾N
/A

 w
ith

 P
ilo

t V
al

ve
﴿"

3 
﴾4

﴿ M
20

﴾N
/A

 w
ith

 P
ilo

t V
al

ve
﴿

4 
﴾2

﴿ 3
/4

” N
PT

﴾2
﴿ 1

/2
” N

PT
"

﴾N
/A

 w
ith

 P
ilo

t V
al

ve
﴿

应
用

区
域

指
示

器
O

型
圈

FFRO
e

手
动

功

Bl
an

k 
N

o
N

o

Si
ng

le
 P

us

m
en

ta
ry

/L

P ta
ry

/L
at

ch
in

g

阀
�P

ilo
t

k 
 N

o 
pi

lo
t 

﴿2
4

D
C 

Pi
lo

t,

/c
lo

se
d "

﴾2
﴿ 3

﴾2
﴿ 1

/2
” N

﴾N
/A

 w
ith

 P

H
ow

t
w

�t
o

Bu
s/

Se
n

al
 S

w
itc

he
s

so

SP
DT PD

T T


